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#i ncl ude<i ost reanrusi ng nanespace std;tenpl at e<typenane T>c

ass Conpl ex{ firend ostream & oper at or<<(ostream &out, Conpl
ex &3) { cout << "a:" << " + " << "h!" << c3.b << endl; r
eturn out; }public: Conmplex(T a=0,T b=0); { this->a = a; t
his->b = b; } Conplex operator+(Conplex &2) { Conplex tnp
(a + c2.a, b+ c2.b); return tnp; } void printConplex() {

cout << "a:" << a << "b:" << b << endl; } private: T a;
T b;}; /12222222222, 2?2<< >>?72227272?, 227227772, 22?72?2772, 22?2772°?

> cl(1,2); Conplex <int> c2(3, 4); Conplex<int> c3=c
1+c2; cout << c3 << endl; systen("pause"); return;}

BIF2 SEEE----rE REERIZEAIINE (BE— 1 cppE

#1 ncl ude<i ostr eanpusi ng nanespace std;tenpl at e<typenane T>c
ass Compl ex{ firend Conpl ex MSub<<(Conplex &cl, Conpl ex &c
2) { Conplex tnp(a + c2.a, b + c2.b); return tnp; } firend
ostream & operator<< <T> (ostream &out, Conplex &c3); publ
c: Complex(T a, T b) Conplex operator+(Conplex &2) void
printConplex();private: T a; T b;};tenplate<typenane T>//?
??7?7?7?7?, ?2?2?2?2?2?2?2Conpl ex<T>:: Conpl ex(T a, T b){ this->a = a; thi
s->b = b;}tenpl ate<typenane T>void Conplex::printConplex(){
cout << "a:" << a << "b:" << b << endl;}tenpl ate<typenane T

???{ Conplex tnp(a + c2.a, b + c2.b); return tnp;}tenplate<t
ypenanme T>ostream & oper at or <<(ostream &out, Conpl ex<T>&c3)/
[ ?2?2?272?227?2?2?2??{ cout << "a:" << " 4+ " << "b:" << c3.b << endl;

return out;}void main(){ Conplex<int> cl(1, 2); Conplex
<i nt> c2(3, 4); Conplex<int> c3 = cl + c2; cout << c3 <
< endl; systen("pause"); return;}
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3)EXRFPRIIIA—T B3

template<class REHARBIREL > //IZ RN TREL DS

4) FRIEIRE X XIS ERLA TR

RN < SEFRSEEIE > JRE

KA < SEFRERLE > WRB (ESFIR)

an:

Compare<int> cmp;

Compare<int> cmp(3,4);

5)ANERFESRAEARINE MK R R EL M2 5 pl SRR 7
template<class FEASEEIREL>

ERERTY RIERE < BHRESE> [ MRREHE (SEH SR ...
AT REIRA LR

1)EERAIEE S UG — IS S0 R ERIE &R Nclass,
an:

template<class T1,class T2>

class someclass

TEMXISRET 73 Bl NSERRAVSRESR, 40,
someclass<int,double>obj;
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#i ncl ude<i ost reanrusi ng nanespace std;tenpl at e<typenane T>c

ass AA{public: static T ma;private:};class AAl{public: stat
ic int ma;private: };tenpl ate<typenane T>int AAl::ma = 0;c
| ass AA2{public: static char ma;private:};char AA2::ma =

O;void main(){ AA<int> al, a2, a3; al.ma = 10; a2.ma++; a3
.Mma++; cout << AA<int>.:ma << endl; AA<char> bl, b2, b3; b
l.ma="a; b2.ma++;, b2.ma++, cout << AA<char>.:ma << en
dl ; [/ m a??????????,?????m a systen("pause"); return;}

SHIa

—. AHLEBEFE—WHY ?
LBdIREERIAEIR

& malloc&iR[E]08 1.

BEBXI SR ERREIEFRRIMTHA

3/6



EITEN
AR ER BRNE RER(ARREEAIRERB)

BREFIMNRENE , FFE

B+ -

#i ncl ude <i ostreanp#i ncl ude <cstdi o>usi ng nanespace std;int
func3 (void) {FILE* fp = fopen ("none", "r");//fopen????????
NULL?i f (! fp)return -1;// ...fclose (fp);return O;}int func
2 (void) {if (func3 () == -1return -1;// ...return O;}int f
uncl (void) {if (func2 () == -1)return -1;// ...return O;}in
t main (void) {//?2?2?2?2???f (funcl () == -1) {cout << "??2?27??7
???7?" << endl;return -1;}// ...cout << "?7??2?27??2?7???" << endl;

return O;}

2. @I setjmp/longjmpizizikis

—LEANEIRGIR | iR E R

BEB SRR IR S

= -

#i ncl ude <i ostreanp#i ncl ude <cstdi o>#i ncl ude <csetjnp> //?c?

lic:A (void) {cout << "A??" << endl;}~A (void) {cout << "A??
<< endl;}};void func3 (void) {A a;FILE* fp = fopen ("none"
,r")sif (P fp)longnmp (g_env, -1); [[2?2?2?2?22?22??27??27??7??7g_env

?7?-17?277?27?7?7?27?2??7?mai n???setj mp???// ...fclose (fp);}void func2
(void) {A a;func3 ();// ...}void funcl (void) {A a;func2 ();
[l ...}int main (void) {if (setjnmp (g_env) == -1) { [[7??2?2?77?
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—LEIDHNEIRME | FFEE R
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LEER

throw FETS;

SENSRALEERNRENTE | BALARZERENIR,
SEFHTIHIRD XEHEHEE.

2 FERIEIR

try {

oIl B EANE AR,

}

catch (BREEE] BEXS]) {
QIR ERBIAET,

}

catch (RERE2 BEXSR2) {
SRR ERT2ANEAR;

}

catch (...) {
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WEEERESERNEDIR,
}

SELEME | nRIOERLBRNERF  (RXPITERERES | BRtryriaTeiE
S, (RIEFTERIBERRISEBRER IEMIATTY , ASRIESFEXNRAIEE | [LECHEN
Acatchi>c , IHTETIIMERTEIRAIE,

??7?#i ncl ude <i ostreanr#i ncl ude <cstdi o>usi ng nanespace std;c
| ass A {public:A (void) {cout << "A??" << endl;}~A (void) {c
out << "A??" << endl;}};void func3 (void) {A a;FILE* fp =fo
pen ("none", "r");if (! fp) { [/?2?2?2?2?2?2?2?27??27?2t hr ow????7?t hr ow??
???cout << "throw?" << endl;throw -1; //??2?2??22t hrow?????7??7??

...fclose (fp);}void func2 (void) {A a;cout << "func3()?" <<
endl ; func3 (); [//?2?2?2?2?2?2?2??2???cout << "func3()?" << endl;//
...yvoid funcl (void) {A a;cout << "func2()?" << endl;func2
(); [12222?2?2?2?2cout << "func2()?" << endl;// ...}int main (v
oid) {try {cout << "funcl()?" << endl;funcl (); //????funcl?
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